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1. (A) The budgeted provision and sales of a company for the year 2012 were fixed at
40,000 units. Other details are as follows 7
— Selling Price — X 15 per unit
— Variable Cost — 6 per unit
— Fixed Cost — < 3.00,000

(A)

(B)

(C)

TE-123

The company adopts absorption costing and the budgeted absorption rate of fixed
overhead was fixed at I 8 per unit.
During the year 2012, it was estimated that only 30,000 units will be sold and the
management decided to increase the production volume of the year to 50,000 units
to show higher profits. However, the fixed costs are expected to remain the same
only.
[t the sales were 30,000 units, calculate profit according to :
(1)  Absorption costing
(1) Varable costing.

OR
A company produces only one product which had the following costs : 7
— Variable manufacturing cost < 4 per unit.
— Fixed manufacturing cost < 2,00,000 per annum.
The normal capacity is set at 2,00,000 units.
There are no work-in-progress inventories.
In year — 1, the company produced 2,00,000 units and sold 90% of them at a price
of X 7 per unit.
In year — 11, the company produced 2,10,000 units and sold 2,15,000 units at the
same price.
You are required to prepare income statements for the year — I and II based on
Absorption costing and Marginal costing.

Write in brief any two of three : 4
(1) Advantages of variable costing.

(2) Difference between marginal costing and absorption costing.

(3) Limitations of marginal costing.

Answer any two in one or two lines only. 3

(1) Meaning of absorption costing.
(2) Income distortion.
(3) Definition of “Period Cost™.

d P.T.O.



2. (A) The standard mix of product “A’; 1s as follows :

(A)

Material Kg  Price per kg

4
A 20 4
B 30 10
C 50 J

The standard loss 1n production is 10% of the input. There 1s no scrap value.

Actual production of product “A” was 7,200 kgs. Actual consumption of material
and cost were as follows :

Material Kg Price per kg

<
A 1680 3.75
B 2560 9.50
C 4160 5.50

Calculate the following variances
(1) Material Cost Variance
(2) Material Price Variance
(3) Material Usage Variance
(4) Material Mix Variance
(5) Material Yield Variance
OR
From the following data, calculate the overhead variances :
Budget  Actual

Production (units) 20,000 22,000
Hours 20,000 22,500
Working days 25 26
Fixed overheads (%) 80,000 85,000

Variable overheads ()  1,00,000  1,20,000

(B) Write mn brief any two out of three :

(1) Utility of Standard Costing.
(2) Limitations of Standard Costing.

(3) Describe the calculation of any two “Profit based sales margin variance”.

(C) Write in brief any two out of three.

TE-123

(1) Explain material mix variance.

(2) Characteristics of standard costing (any three).

(3) Variance based on sales value.
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3.  (A) A company has the following cost structure of its product : 7

4
Direct Material 40
Direct Labour 85
Variable overhad 35
Fixed overhead 40
Total 200

Additional information :
(1) Fixed selling and administrative cost 1s ¥ 2,50,000.
(2) Budgeted production and sale for the next year is 10,000 units.

(3) The management expects a minimum return of 20% on equity investments of
< 12,50,000.

What price should it charge for one unit of 1t$ output ?
OR

(A) A.B. Ltd. budgets to make 1,00,000 units of a product. The variable cost per unit 1s
% 10.50 ps. Fixed costs are I 5,50,000. The Finance Manager has suggested that
the cost plus approach should be used with a profit mark up of 25%. 7

The marketing director however, 1s not in agreement with the finance head and he
has supplied the following data

Price per Unit (%) 18 20 22 24 26
Demand (Units) 84000 | 76000 | 70000 | 64000 | 54000

As amanagement accountant, analyse the above proposal and comments.

(B) Write in brief any two out of three : 4
(1) Any four factors affecting pricing decisions.
(2) Role of Accountant in pricing decision.
(3) Name any three “Cost oriented pricing”

(C) Write in brief any two out of three : 3
(1) Pricing strategies for established product.
(2) Pricing strategies for a new product.

(3) Pricing in inflation.
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4. (A) Mr. Ahuja wanting to purchase seven machines for I 6,000. He approaches a

(A)

(B)

(€)

company which had recently completed and sold one similar machine to a
competitor. In determining the cost of the first machine manufactured, the

following cost data are available :
4
1. Direct Material 30 kg at X 2 per kg 60
2. Direct Labour 100 hours at ¥ 10 per hour 1,000
3. Factory Overhead < 3 per direct labour hour 300
Total : 1,320

An 80% learning curve 1s thought to be perfect in this case. Also if this offer 1s
accepted, the company will be eligible for a 2% quantity discount on direct
materials.

Calculate your estimated profit or loss, 1f the otfer 1s accepted.
OR

Pooja Electronics Ltd. produces VCD sets. While preparing its first set the material
cost was < 1,500 and labour hours were 500, wages and variable cost will be X 7.50
per hour.

Assume that 80% learning curve will apply to its production.

Find out the total cost and average cost péer unit of producing 1* and total 8 units
on the basis of above data.

Write in brief any two out of three :

(1) Explain in brief the relevance of learning curve effects in Management
Accounting.

(2) Limitations of learning curve.
(3) Define Learning rate.

Write 1n brief any two out of three
(1) -~ Name the costs which are affected by the Learning curve.
(2) What do 80% and 90% learning curve indicate ?

(3)  Differentiate the two : cost control and cost reduction.

5. Following questions contain more than ome answers from which choose the correct

answer
(1) Variable costing 1s also known as
(a) Direct costing (b) Absorption costing
(c) Standard costing (d) Activity Based Costing (ABC)
(2) When a new work 1s started 1n the factory, the speed 1n the initial stage remains :
(a) High (b) Slow
(c) Medium (d) None of the above
TE-123 10
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(3)

(a) Fixed costs (b) Variable costs
(¢) Full costs (d) None of the above
(4) The differential cost pricing takes into consideration only the incurred
with additional output for meeting special order.
(a) Additional cost (b) Total cost
(¢) Cost plus profit (d) Fixed cost
(5) In case of a firm, not following the absorption costing, whether fixed costs are
affected by the learning curve ?
(a) Yes (b) No
(¢) Yes, in certain cases (d) Can’tsay
(6) Out of the following, name the one which is not “Fixed Overhead Variance™.
(a) Volume variance (b) Capacity variance
(¢) Calender variance (d) - Idle time variance
(7)  Where the production volume 1s more than the sales volume, there 1s bound to be
some
(a) Opening stock (b) Closing stock
(¢) Dead stock (d) Work-in-process stock
(8) Absorption costing 1s also known as
(a) Full costing (b) Variable costing
(c) Direct costing (d) None of the above
(9) The standards which c¢an be attained under the most favourable conditions :
(a) . Historical standards (b) Expected standards
(¢) Ideal standards (d) Normal standards
(10) may be defined as an attempt to bring costs down.
(a) Costreduction (b) Cost control
(c) Learning curve (d) None of the above
(11) Pricing decisions have vital impact on the of the organization.
(a) Sales volume (b) Profitability
(c) Production (d) Cost of product
(12) When actual cost 1s more than the standard cost, the variance 1s known as
(a) Favourable variance (b) Adverse variance
(c) Cost variance (d) None of the above
TE-123 11 P.T.O.

Under cost plus pricing, are taken imnto consideration including an
allowance for all overheads and adds profit margin to the total cost for export
pricing :




(13) The volume of production increases or decreases due to increase or decrease in
productive capacity of the business unit. The resultant variance 1s called

(a) Capacity variance (b) Calender variance
(¢c) Volume variance (d) Expenditure variance
(14) The profit 1s not much affected by change in sales volume under : ’

(a) Vanable costing (b) Daifferential costing '
(c) Absorption costing (d) None of the above S
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